

Research Report

KSTS/RR-84/002
27 Nov. 1984

**Rational approximations
to the values of certain
hypergeometric functions**

by

Iekata Shiokawa

Iekata Shiokawa

Department of Mathematics
Faculty of Science and Technology
Keio University

Hiyoshi 3-14-1, Kohoku-ku
Yokohama 223, Japan

Department of Mathematics
Faculty of Science and Technology
Keio University

Hiyoshi 3-14-1, Kohoku-ku, Yokohama, 223 Japan

Rational approximations to the values of
certain hypergeometric functions

By Iekata SHIOKAWA

Rational approximations to the values of the exponential function have been studied by many authors. We refer among others to the following theorem due to Bundschuh[1], Mahler[7], and Durand[5]: Let a, b be positive integers. Then there are explicit positive constants C, B such that

$$(1) \quad \left| e^{a/b} - \frac{p}{q} \right| > C q^{-2-B/\log \log q}$$

for all integers p, q with $q \geq 3$. Especially for e the very precise estimate was obtained by Davis[4]; namely, $|e - p/q| > (\frac{1}{2} - \varepsilon) q^{-2} \log \log q / \log q$ for all integers p, q with $q > q_0(\varepsilon)$, and $< (\frac{1}{2} + \varepsilon) q^{-2} \log \log q / \log q$ for infinitely many integers p, q . His proof is given by constructing explicitly the convergents of the simple continued fraction of e found by Euler. The method of Mahler and Durand depends on the classical formula by Hermite. Bundschuh used Kummer's relation satisfied by a particular class of hypergeometric functions to construct rational approximations to e^x . He also obtained similar results for $\tanh x$ and the ratio $J_{\lambda+1}(x)/J_{\lambda}(x)$ of the Bessel functions of the first kind.

In this paper we give a new proof of the inequality (1) with an improved constant B for the values of not only for the exponential function but also for certain confluent hypergeometric functions including those obtained in [1] and [2] mentioned above. Our method is based on the continued fractions of Gauss.

We denote by

$$X = G_{\gamma}(Y), \quad Y > 0,$$

the inverse function for the function

$$Y = F_{\gamma}(X) = X \log X + \gamma X, \quad X > e^{-\gamma},$$

where γ is a given real number.

Theorem 1. Let a, b be positive integers. Then there is a positive constant C depending only on a, b such that

$$\left| e^{a/b} - \frac{p}{q} \right| > C q^{-2-2\log a \cdot \gamma (\log q) / \log q} \frac{\log \log q}{\log q}$$

for all integers p, q with $q \geq 3$, where $\gamma = \log((4b)/(ea^2))$.

Corollary 1. For any positive ε , there is a positive constant C depending at most on a, b , and ε such that

$$\left| e^{a/b} - \frac{p}{q} \right| > C q^{-2-(2\log a + \varepsilon) / \log \log q}$$

for all integers p, q with $q \geq 3$.

Corollary 2. Let b be a positive integer. Then there is a positive constant C depending only on b such that

$$\left| e^{1/b} - \frac{p}{q} \right| > C q^{-2} \frac{\log \log q}{\log q}$$

for all integers p, q with $q \geq 3$.

For the proof we need the following

Lemma 1. Let

$$\frac{1}{a_1} + \frac{1}{a_2} + \frac{1}{a_3} + \dots$$

be a continued fraction with real partial denominators which represents an irrational number. Assume that

$$(2) \quad \sum_{n=1}^{\infty} |a_n a_{n+1}|^{-1} < \infty.$$

Then the ratios $p_n/(a_2 a_3 \dots a_n)$ and $q_n/(a_1 a_2 \dots a_n)$ converge to finite non-zero limits as $n \rightarrow \infty$. Furthermore

$$\lim_{n \rightarrow \infty} a_{n+1} \alpha_n = 0,$$

where

$$\alpha_n = \frac{1}{a_{n+1}} + \frac{1}{a_{n+2}} + \frac{1}{a_{n+3}} + \dots$$

Proof. By (2) there is a positive integer n_0 such that

$$(3) \quad -\frac{2}{9} < \frac{1}{|a_{n+1}|} < \frac{2}{3}, \quad n \geq n_0.$$

Let $n \geq n_0$ be fixed. Denote by $p_{n,k}/q_{n,k}$ the k th convergent of

the continued fraction α_n , i.e.

$$\frac{p_{n,k}}{q_{n,k}} = \frac{1}{a_{n+1}} + \frac{1}{a_{n+2}} + \dots + \frac{1}{a_{n+k}}, \quad k \geq 1.$$

Then

$$q_{n,1} = a_{n+1}, \quad q_{n,2} = a_{n+1}a_{n+2} \left(1 + \frac{1}{a_{n+1}a_{n+2}}\right)$$

and

$$\begin{aligned} q_{n,3} &= a_{n+1}a_{n+2}a_{n+3} \left(1 + \frac{1}{a_{n+1}a_{n+2}}\right) \left(1 + \frac{1}{a_{n+2}a_{n+3}} \left(1 + \frac{1}{a_{n+1}a_{n+2}}\right)^{-1}\right) \\ &= a_{n+1}a_{n+2}a_{n+3} \left(1 + \frac{1}{a_{n+1}a_{n+2}}\right) \left(1 + \frac{v_{n,2}}{a_{n+2}a_{n+3}}\right) \end{aligned}$$

for some $v_{n,2}$ with $\frac{1}{2} < v_{n,2} < \frac{3}{2}$, in view of (3) and the following inequality

$$\frac{1}{2} < \frac{1}{1+xy} < \frac{3}{2}, \quad \text{if } -\frac{2}{9} < x < \frac{2}{3} \text{ and } \frac{1}{2} < y < \frac{3}{2}.$$

Repeating this we get

$$q_{n+k} = a_{n+1}a_{n+2}\dots a_{n+k} \prod_{j=1}^{k-1} \left(1 + \frac{v_{n,j}}{a_{n+j}a_{n+j+1}}\right)$$

for some $v_{n,j}$ with $\frac{1}{2} < v_{n,j} < 3/2$, and thus the ratio

$q_{n,k} / (a_{n+1}a_{n+2}\dots a_{n+k})$ is also converges to a non-zero limit because of (2). If we regard $q_{n,k}$ as a polynomial in k variables $a_{n+1}, a_{n+2}, \dots, a_{n+k}$ and write it as $q_{n,k} = q_{n,k}(a_{n+1}, a_{n+2}, \dots, a_{n+k})$, we have

$$p_{n,k} = q_{n+1,k-1}(a_{n+2}, a_{n+3}, \dots, a_{n+k})$$

and hence $p_{n,k} / (a_{n+2}a_{n+3}\dots a_{n+k})$ is also convergent.

We may assume $p_n q_n \neq 0$, since there are infinitely many such n 's. Then from the recurrence relations

$$p_{n+k} = p_n q_{n,k} + p_{n-1} p_{n,k}$$

$$q_{n+k} = q_n q_{n,k} + q_{n-1} p_{n,k}$$

we have

$$\frac{p_{n+k}}{a_2 a_3 \dots a_{n+k}} = \frac{p_n}{a_2 a_3 \dots a_n} \frac{q_{n,k}}{a_{n+1} \dots a_{n+k}} \left(1 + \frac{p_{n-1}}{p_n} \frac{p_{n,k}}{q_{n,k}}\right),$$

$$\frac{q_{n+k}}{a_1 a_2 \dots a_{n+k}} = \frac{q_n}{a_1 a_2 \dots a_n} \frac{q_{n,k}}{a_{n+1} \dots a_{n+k}} \left(1 + \frac{q_{n-1}}{q_n} \frac{p_{n,k}}{q_{n,k}}\right).$$

The right-hand sides converge as $k \rightarrow \infty$ to finite limits different from zero, since under the assumption the continued fraction

$$\frac{1}{a_{n+1}} + \frac{1}{a_{n+2}} + \frac{1}{a_{n+3}} \dots = \lim_{k \rightarrow \infty} \frac{p_{n,k}}{q_{n,k}}$$

converges to an irrational number.

As we have seen above

$$\begin{aligned} a_{n+1} \alpha_n &= a_{n+1} \lim_{k \rightarrow \infty} \frac{p_{n,k}}{q_{n,k}} \\ &= \prod_{k=1}^{\infty} \left(1 + \frac{u_{n,k}}{a_{n+k} a_{n+k+1}}\right) \left(1 + \frac{v_{n,k}}{a_{n+k} a_{n+k+1}}\right)^{-1} \end{aligned}$$

with $\frac{1}{2} < u_{n,k} < 3/2$, $\frac{1}{2} < v_{n,k} < 3/2$, which converges to 1 as $n \rightarrow \infty$.

Proof of Theorem 1. The proof is based on the continued fraction

$$e^x = 1 + \frac{2x}{2-x} + \frac{x^2}{2 \cdot 3} + \frac{x^2}{2 \cdot 5} + \frac{x^2}{2 \cdot 7} + \frac{x^2}{2 \cdot 9} + \dots$$

This formula appears in [6;(2.4.30)]; however, it is stated there incorrectly. Using the equivalence transformation

$$c_0 + \frac{b_1}{c_1} + \frac{b_2}{c_2} + \frac{b_3}{c_3} + \dots = c_0 + \frac{r_1 b_1}{r_1 c_1} + \frac{r_1 r_2 b_2}{r_2 c_2} + \frac{r_2 r_3 b_3}{r_3 c_3} + \dots,$$

we find the regular continued fraction

$$e^x = 1 + \frac{1}{a_1} + \frac{1}{a_2} + \frac{1}{a_3} + \dots$$

with

$$a_1 = \frac{2-x}{2x}, \quad a_{2n} = \frac{4(4n-1)}{x}, \quad a_{2n+1} = \frac{4n+1}{x}, \quad n \geq 1.$$

Now we put $x=a/b$. Then the continued fractions satisfies the conditions of Lemma 1. We denote its n th convergent by p_n/q_n . It can be shown by induction that $d_n p_n, d_n q_n$ are integers for all $n \geq 1$, where

$$(4) \quad d_n = 2a^n, \quad n \geq 1.$$

applying now Lemma 1, we see

$$\lim_{n \rightarrow \infty} \frac{q_n}{q_{n+1}} = \lim_{n \rightarrow \infty} \frac{q_n d_{n+1}}{q_{n+1} d_n} = \lim_{n \rightarrow \infty} \alpha_n = 0,$$

so that we can choose a positive integer n_0 such that

$$(5) \quad |q_n| < |q_{n+1}|, \quad |q_n/d_n| < |q_{n+1}/d_{n+1}|, \quad |\alpha_n| < \frac{1}{2}$$

for all integers $n \geq n_0$, for some $n_0 = n_0(a, b)$.

Now let p and $q > 0$ be given integers. We may assume

$$|q_{n_0}/d_{n_0}| < 4q.$$

Then by (5) there is an integer $n = n(q) \geq n_0$ determined uniquely by the inequality

$$(6) \quad |q_{n-1}/d_{n-1}| \leq 4q < |q_n/d_n|.$$

By virtue of the formula

$$p_n q_{n-1} - p_{n-1} q_n = \pm 1,$$

we can deduce

$$p_n q - q_n p \neq 0 \quad \text{or} \quad p_{n-1} q - q_{n-1} p \neq 0.$$

Assume first that $p_n q - q_n p$ is different from zero. Then we have

$$d_n q_n \left(e^{a/b} - \frac{p}{q} \right) = \frac{d_n (p_n q - q_n p)}{q} + d_n (q_n e^{a/b} - p_n),$$

where $d_n (p_n q - q_n p)$ is a non-zero integer, so that

$$|d_n (p_n q - q_n p)| \geq 1,$$

and

$$|d_n (q_n e^{a/b} - p_n)| < \frac{1}{2q},$$

because of the formula

$$q_n e^{a/b} - p_n = \frac{\pm 1}{q_{n+1} + \alpha_{n+1} q_n}$$

with (5) and (6). Hence we get

$$|d_n q_n \left(e^{a/b} - \frac{p}{q} \right)| > \frac{1}{2q},$$

or equivalently

$$\left| e^{a/b} - \frac{p}{q} \right| > \frac{1}{2q} \frac{1}{|d_n q_n|} = \frac{1}{2q} \frac{1}{|d_n| |q_n|}.$$

We will find the same inequality, if we start with another possibility $p_{n-1} q - q_{n-1} p \neq 0$. Therefore, using (4), (5), and (6), we obtain

$$(7) \quad \left| e^{a/b} - \frac{p}{q} \right| > c_1 q^{-2 - (2 \log d_n + \log |a_n|) / \log q}$$

$$(8) \quad > c_2 q^{-2 - ((2 \log a)n + \log n) / \log q}.$$

The constants $c_1, c_2 > 0$, and in the sequel those implied in O -symbols depend possibly on a and b . It remains to replace n and $\log n$ by functions of q .

By Lemma 1 and (6) we have

$$(9) \quad \log q = \log |a_1 \dots a_n| - \log d_n + O(1).$$

Here we see

$$a_1 a_2 \dots a_{2n+1} = \frac{2-x}{16x} \left(\frac{8}{x}\right)^{2n+1} (n!)^2 \prod_{k=1}^{\infty} \left(1 - \frac{1}{16k^2}\right),$$

so that

$$\begin{aligned} \log |a_1 \dots a_{2n+1}| &= 2 \log n! + (2n+1) \log \left(\frac{8}{x}\right) + O(1) \\ &= \log |a_1 \dots a_{2n}| + \log n + O(1). \end{aligned}$$

Using Stirling's formula

$$\log \Gamma(x) = x \log x - x - \frac{1}{2} \log x + O(1), \quad x \rightarrow \infty,$$

we get

$$\log |a_1 \dots a_n| = n \log n + n \log \frac{4}{e|x|} + O(1),$$

which together with (4) and (9) yields

$$(10) \quad \log q = n \log n + \gamma n + O(\log n), \quad \gamma = \log \frac{4}{ea|x|}.$$

Hence we have

$$(11) \quad \log n = \log \log q - \log \log \log q + O(1),$$

and so

$$F_{\gamma}(n) = n \log n + \gamma n = \log q + O(\log \log q).$$

Therefore we obtain

$$\begin{aligned} n &= G_{\gamma}(\log q + O(\log \log q)) \\ &= G_{\gamma}(\log q) + O(1). \end{aligned}$$

From this, (8), and (11) Theorem 1 follows.

Corollary 1 is an immediate consequence of the following

Lemma 2. The function $G_{\gamma}(Y)$ can be developed in the series

$$G_{\gamma}(Y) = \frac{Y}{\log Y} \left\{ 1 + \sum_{n=1}^{\infty} \sum_{k=0}^{n-1} A_{n,k} \frac{(\log \log Y - \gamma)^{n-k}}{(\log Y)^n} \right\},$$

provided Y is sufficiently large, where the coefficients $A_{n,k}$ are given by the following relations;

$$A_{n+1, K+1} = A_{n, k+1} - \sum_{\substack{n_1+n_2=n \\ k_1+k_2=k \\ 0 \leq k_1 \leq n_1 \\ 0 \leq k_2 \leq n_2}} A_{n_1, k_1} B_{n_2, k_2}, \quad 0 \leq k < n, \quad n \geq 1,$$

where

$$B_{n,k} = \sum_{m=1}^{n-k} \frac{(-1)^{m-1}}{m} \sum_{\substack{n_1+\dots+n_m=n \\ k_1+\dots+k_m=k \\ 0 \leq k_i < n_i}} A_{n_1, k_1} \dots A_{n_m, k_m},$$

with $A_{n,0}=1, n \geq 0$, and $A_{n,n}=0, n \geq 1$.

The first few terms of the series are

$$G_Y(Y) = \frac{Y}{\log Y} \left\{ 1 + \frac{\log \log Y - \gamma}{\log Y} + \frac{(\log \log Y - \gamma)^2}{(\log Y)^2} + \frac{\log \log Y - \gamma}{(\log Y)^2} + \frac{(\log \log Y - \gamma)^3}{(\log Y)^3} - \frac{5}{2} \frac{(\log \log Y - \gamma)^2}{(\log Y)^3} + \frac{\log \log Y - \gamma}{(\log Y)^3} + \dots \right\}.$$

The proof of Lemma 2 will be found in the last part of this paper.

Our method can be available for the continued fractions of Gauss which represent some confluent hypergeometric functions. The following are such examples.

$$\tan x = \frac{x}{1} - \frac{x^2}{3} - \frac{x^2}{5} - \frac{x^2}{7} - \dots$$

$$\tanh x = \frac{x}{1} + \frac{x^2}{3} + \frac{x^2}{5} + \frac{x^2}{7} + \dots$$

$$\frac{f_\lambda(x)}{f'_\lambda(x)} = \lambda + \frac{x}{\lambda+1} + \frac{x}{\lambda+2} + \frac{x}{\lambda+3} + \dots,$$

where $-\lambda$ is not a positive integer and $f_\lambda(x)$ is defined by

$$f_\lambda(x) = \sum_{n=0}^{\infty} \frac{x^n}{n! (\lambda+1)(\lambda+2)\dots(\lambda+n)}.$$

$$\frac{J_{\lambda+1}(x)}{J_\lambda(x)} = \frac{x}{2(\lambda+1)} - \frac{x^2}{2(\lambda+2)} - \frac{x^2}{2(\lambda+3)} - \dots,$$

where $J_\lambda(x)$ is the Bessel function of the first kind of order λ defined by

$$J_\lambda(x) = \frac{1}{\Gamma(\lambda+1)} \left(\frac{x}{2}\right)^\lambda f_\lambda\left(-\frac{x^2}{4}\right).$$

(cf. [6; § 6.1.3], [8; Chap.II].)

Theorem 2. Let θ be one of the numbers given below. Then there is a positive constant C depending only on θ such that

$$\left| \theta - \frac{p}{q} \right| > C q^{-2 - \beta G_Y(\log q) / \log q} \frac{\log \log q}{\log q}$$

for all integers p, q with $q \geq 3$, where θ and the corresponding constants β and γ are as follows: let a, b be positive integers and r, s be integers with $\lambda = r/s \neq -1, -2, -3, \dots, s > 0$.

θ	β	γ
$\tan \frac{a}{b}, \tanh \frac{a}{b}$	$2 \log a$	$\log \frac{2b}{ea^2}$
$\frac{\tan \sqrt{a/b}, \tanh \sqrt{a/b}}{\sqrt{a/b}}$	$\log a$	$\log \frac{2\sqrt{b}}{ea}$
$\frac{f_\lambda(a/b)}{f'_\lambda(a/b)}$	$2 \log(\sqrt{as})$	$\log \frac{\sqrt{b}}{eas}$
$\frac{J_{\lambda+1}(a/b)}{J_\lambda(a/b)}$	$2 \log(as)$	$\log \frac{2b}{ea^2 s}$
$\frac{J_{\lambda+1}(\sqrt{a/b})}{a/b J_\lambda(\sqrt{a/b})}$	$\log(as)$	$\log \frac{2\sqrt{b}}{eas}$

Corollary 3. Let θ, β , and γ be as above. Then for any positive ε , there is a positive constant C depending at most on θ and ε such that

$$\left| \theta - \frac{p}{q} \right| > Cq^{-2-(\beta+\varepsilon)/\log \log q}$$

for all integers p, q with $q \geq 3$.

Corollary 4. If $a=s=1$, then there is a positive constant C depending only on θ such that

$$\left| \theta - \frac{p}{q} \right| > Cq^{-2} \frac{\log \log q}{\log q}$$

for all integers p, q with $q \geq 3$.

Proof. Let $\theta = \tanh(a/b)$. By the equivalence transformatin, the continued fraction is transformed into the regular one

$$\tanh x = \frac{1}{a_1} + \frac{1}{a_2} + \frac{1}{a_3} + \dots, \quad a_n = \frac{2n-1}{x}, \quad n \geq 1,$$

which satisfies the conditions of Lemma 1. Let $x=a/b$. Then

$d_n p_n$ and $d_n q_n$, $n \geq 1$, are integers, where $d_n = a^n$, $n \geq 1$. Choose n_0 such that (5) holds for all $n \geq n_0$. For any given p and q with $q \geq c_3$, there is an integer $n = n(q) \geq n_0$ satisfying (6). Then we have (7) and (9). We see

$$a_1 a_2 \dots a_n = \frac{(2n-1)!}{(n-1)!} \frac{1}{2^n x^n},$$

so that

$$\log |a_1 a_2 \dots a_n| = n \log n + n \log \frac{2}{e x} + O(1).$$

Hence we obtain (10) with $\Upsilon = \log(2b/(ea^2))$. The rest of the proof is the same as that of Theorem 1.

For the number $\tanh \sqrt{a/b} / \sqrt{a/b}$, we use the continued fraction

$$\frac{\tanh \sqrt{x}}{\sqrt{x}} = \frac{1}{a_1} + \frac{1}{a_2} + \frac{1}{a_3} + \dots,$$

where

$$a_1 = 1, \quad a_{2n+1} = 4n+1, \quad a_{2n} = \frac{4n-1}{x}, \quad n \geq 1.$$

This with $x=a/b$ also satisfies the conditions of Lemma 1. We have

$$\log |a_1 a_2 \dots a_n| = n \log n + n \log \frac{2}{e \sqrt{x}} + O(1)$$

and

$$d_{2n} = d_{2n+1} = a^n, \quad n \geq 0;$$

and the proof will be carried out as above.

The remaining cases can be proved in the same way.

Remark. We have assumed a , b , and s to be positive integers only for brevity. All the results stated above are valid even for integers in a given imaginary quadratic field.

Proof of Lemma 2. Put $x = \log X$ and $y = \log Y$. Then

$$Y = X \log X + \Upsilon X, \quad X > e^{-\Upsilon}$$

implies

$$(13) \quad e^Y = e^X(x + \Upsilon), \quad x > -\Upsilon,$$

so that

$$y = x + \log(x + \Upsilon) = \phi(x), \quad \text{say.}$$

We denote by $x = \phi^{-1}(y)$ the inverse function of $y = \phi(x)$, and define

$$f(y) = ye^{x-y}, \quad x = \phi^{-1}(y),$$

then we have, using (2),

$$(14) \quad f(y) = \frac{y}{x + \Upsilon} = \frac{y}{y - \log y + \Upsilon + \log f(y)}.$$

We have to show

$$(15) \quad f(y) = 1 + \sum_{n=1}^{\infty} \sum_{k=0}^{\infty} A_{n,k} \frac{(\log y - \Upsilon)^{n-k}}{y^n}.$$

In what follows, we always assume that x and y are sufficiently large. Noticing that $\log f(y) = O(1)$, we have by (14)

$$(16) \quad \begin{aligned} f(y) &= \sum_{n=0}^{\infty} \frac{(\log y - \gamma - \log f(y))^n}{y^n} \\ &= \sum_{k=0}^{\infty} (-\log f(y))^k \sum_{n=k}^{\infty} \binom{n}{k} \frac{(\log y - \gamma)^{n-k}}{y^n}. \end{aligned}$$

Also

$$\begin{aligned} \log f(y) &= \sum_{m=1}^{\infty} \frac{1}{m} \frac{(\log y - \gamma - \log f(y))^m}{y^m} \\ &= \sum_{m=1}^{\infty} \frac{1}{m} \sum_{n=0}^m \binom{m}{n} \frac{(\log y - \gamma)^{m-n}}{y^m} (-\log f(y))^n \\ &= \sum_{m=1}^{\infty} \frac{1}{m} \frac{(\log y - \gamma)^m}{y^m} + \sum_{n=1}^{\infty} (-\log f(y))^n \sum_{m=n}^{\infty} \frac{1}{m} \binom{m}{n} \frac{(\log y - \gamma)^{m-n}}{y^m}, \end{aligned}$$

so that

$$\begin{aligned} - \sum_{m=1}^{\infty} \frac{1}{m} \frac{(\log y - \gamma)^m}{y^m} &= (-\log f(y)) \left(1 + \sum_{m=1}^{\infty} \frac{(\log y - \gamma)^{m-1}}{y^m} \right), \\ &\quad + \sum_{n=2}^{\infty} (-\log f(y))^n \sum_{m=n}^{\infty} \frac{1}{m} \binom{m}{n} \frac{(\log y - \gamma)^{m-n}}{y^m}. \end{aligned}$$

Multiplying the both sides of the equation above by the series

$$\left(1 + \sum_{m=1}^{\infty} \frac{(\log y - \gamma)^{m-1}}{y^m} \right)^{-1} = \sum_{k=0}^{\infty} \left(- \sum_{m=1}^{\infty} \frac{(\log y - \gamma)^{m-1}}{y^m} \right)^k,$$

we find

$$A_0 = -\log f(y) + A_2(-\log f(y))^2 + A_3(-\log f(y))^3 + \dots,$$

where A_n are of the forms

$$A_n = \sum_{m=n}^{\infty} \sum_{k=0}^m a_{m,k}^{(n)} \frac{(\log y - \gamma)^{m-k}}{y^m}$$

with some constant coefficients $a_{m,k}^{(n)}$.

We consider now the power series

$$Y = S(X) = X + A_2 X^2 + A_3 X^3 + \dots,$$

which is convergent in a neighbourhood of the origin, and $S(0) = 0$, $S'(0) = 1$. Then there is the power series

$$X = T(Y) = Y + B_2 Y^2 + B_3 Y^3 + \dots$$

having positive radius of convergence such that

$$S(T(Y)) = Y,$$

where the coefficients B_n are given inductively by

$$B_n = \sum_{k=2}^n A_k \sum_{n_1+\dots+n_k=n} B_{n_1} \dots B_{n_k}.$$

(cf. Cartan [3].)

Putting $X = -\log f(y)$ and $Y=A_0$, we get

$$\begin{aligned} -\log f(y) &= A_0 + B_2 A_0^2 + B_3 A_0^3 + \dots \\ &= \sum_{n=1}^{\infty} \sum_{k=0}^n C_{n,k} \frac{(\log y - \gamma)^{n-k}}{y^n}, \end{aligned}$$

where $C_{n,k}$ are constants; which together with (16) yields (15).

It remains to prove the relations satisfied by the coefficients $A_{n,k}$. We have from (14)

$$(17) \quad f(y) \log f(y) = (\log y - \gamma) f(y) - y(f(y)-1).$$

Here by (15)

$$\log f(y) = \sum_{m=1}^{\infty} \frac{(-1)^{m-1}}{m} (f(y)-1)^m$$

and

$$(f(y)-1)^m = \sum_{n=m}^{\infty} \sum_{k=0}^{n-m} A_{n,k}^{(m)} \frac{(\log y - \gamma)^{n-k}}{y^n},$$

where

$$A_{n,k}^{(m)} = \sum_{\substack{n_1+\dots+n_m=n \\ k_1+\dots+k_m=k \\ 0 \leq k_i < n_i}} A_{n_1, k_1} \dots A_{n_m, k_m},$$

so that

$$\begin{aligned} \log f(y) &= \sum_{m=1}^{\infty} \sum_{n=m}^{\infty} \sum_{k=0}^{n-m} \frac{(-1)^{m-1}}{m} A_{n,k}^{(m)} \frac{(\log y - \gamma)^{n-k}}{y^n} \\ &= \sum_{n=1}^{\infty} \sum_{k=0}^{n-1} B_{n,k} \frac{(\log y - \gamma)^{n-k}}{y^n}. \end{aligned}$$

This together with with (15) leads to

$$f(y) \log f(y) = \sum_{n=1}^{\infty} \sum_{k=0}^{n-1} (B_{n,k} + \sum_{\substack{n_1+n_2=n \\ k_1+k_2=k \\ 0 \leq k_i < n_i}} A_{n_1,k_1} B_{n_2,k_2}) \frac{(\log y - \gamma)^{n-k}}{y^n}.$$

On the other hand, we have from (17)

$$\begin{aligned} & (\log y - \gamma) f(y) - y(f(y)-1) \\ &= A_{1,0}(\log y - \gamma) + \sum_{n=1}^{\infty} \sum_{k=-1}^{n-1} (A_{n,k+1} - A_{n+1,k+1}) \frac{(\log y - \gamma)^{n-k}}{y^n}, \end{aligned}$$

where $A_{n,n} = 0$, $n \geq 1$. Comparing both sides of (17) with these equalities, we obtain the relations for $A_{n,k}$ and $B_{n,k}$ in Lemma 2.

References

- [1] P. Bundschuh ; Irrationalitätsmasse für e^a , $a \neq 0$ rational order Liouville-Zahl. Math. Ann. 192(1971), 229-242.
- [2] P. Bundschuh ; Scharfe Irrationalitätsmasse für Zahlen, die mit Bessel-Funktion zusammenhängen. Math. Zeit. 165(1979), 251-260.
- [3] H. Cartan : Théorie élémentaire des fonctions analytiques d'une ou plusieurs variables complexes. Hermann, Paris 1961.
- [4] C.S. Davis : Rational approximations to e . J. Austral. Math. Soc. (ser. A) 25(1978), 497-502.
- [5] A. Durand : Simultaneous Diophantine approximations and Hermite's method. Bull. Austral. Math. Soc. 21 (1980), 463-470.
- [6] W.B. Jones and W.J. Thron : Continued Fractions: Analytic Theory and Applications. Addison-Wesley, London 1980.
- [7] K. Mahler : On rational approximations of the exponential function at rational points. Bull. Austral. Math. Soc. 10 (1974), 325-335.
- [8] C.L. Siegel : Transcendental Numbers. Princeton Univ. Press 1949.

Iekata SHIOKAWA

Department of Mathematics, Keio University

14-1 Hiyoshi 3 Chome, Kohokuku, Yokohama, 223 Japan